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Ae oM mMw A9 o 817 -'.1; Za A
7 : 3324 3,520,672
H13% 2A : 112 670,880
H13Z | 1 |4 9 A A H[rarE AARE e AR o wx gus| Au | nxd 13,000
2 = = SHePE AT FA gus| Sa | @y 400,000
3 A 3 % A [20124 498 FolRE obF dolud A Abel  [ersi| AW | nzw 1,920
4 |AFE B A #2012d 498 Follols ARAF ALY LESIH| A | H 27,512
5 k8l % afZ0las AR TS A 2w | A | nxF 1,200
FEE R o g aans s | A | s 6,000
7 w9l 2 A 5 :i%lﬁ%ﬁfﬁf FUN 2R B FFA aws | A | mea 1,638
g |w ol m %oézfg 2/47) BET w3220 #eat asrgH| AM | nzz 2.379
9 |dAEFAE2012d 49 FELE ALY AW R BIw 2es| AY | BREe 80,042
10 QA2 F AT ALY A A ) Fo) TEA B s guis| Y | nzg 1,000
SREEE R RS R EERIERRE gus| Au | pxd 136,189
H14% 2A 112 2,486,615
H1axt| 1|4 9 3 A AR e AE A 29 gus| Au | nxd 10,000
2 | g A L S E SR T A gus| Au | pxd 38,000
3 |09 g A R T e s SEEPIEREIEES 540
4 |48 B A B2012d 4908 GolR) 2% A AM] 7] gus| Au | pxd 32,103
5 |7FA 5 A | Fot FLA 2uv] FE4E, 59) 2es| AY | BREe 9,360
6 % & FH|U0Y S8 nelgE Ty gus| An | nxd 1,162
71 B R A YT ERFE 2PAY s ALY LESIA| AR | e 1,700,000
B |F & % A F[op SAE L AN BE T ] B gus| An | nxd 19,000
9 = = H|NRAT =g 33 B4 gus| Au | nxd 660,000
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